Lesson6 Contlnwty

/\ ‘rl,mc‘)’\oh s Can'hyuaw T Here s o
ijsrup’ncn in Hhe 3mf

The ‘Q”OW\'\ Y 3mpb$ show £¢) is disconti-
'y\uab\b @ X"'

/:f) jf k
¢ >
& j > X

C

These jmplos have () undefined .

» — o
< C X S —> X
C
"F((B )S MMOQ 4\() » JZ‘F’M&Q
B(/LT \ym ‘F(K) D\’E \\V:'l ‘e (X) exishs
xXDC > €

RMIm I!m‘PO‘)i‘P{c}



BUT (;mPx)AC)
cm— xg.>c
We can see a -Pwd‘im o) '3 Con{-inwcg
@x=c 7 the Follwing is e
CD F(D s e (re. ithos a vale

@ \wY\ FX) exists
€ 'm P(X) "FCC)‘\

X>C

Tt “_( of these 3 COnoor-hm; aren’
hen e 2y () s Ollscon"mumj

ot x=¢C

Ex |+ Or<euss contnuity of f(x)= X

X2= ¢

when is F(¥) undelined?

({.é. WNA S d-ﬂhd'—'—'O)
X=X =0
¥(x=-1)=0

x=0, 1 = We howe Disaikinuities

@ x=o,|



o N~

eul" what M.mﬂ of J'Sccn’r?nui-ﬁy avt HV/O
D‘um0>.° Hole ? VAT |
Lot < simplif/ Jo answer that guestion
£06y= Ax _ AKX _ 2
X KO- X
B/c X canceled we e a hole @ X<0
Whet rermains is VA= x=1 is VA,
whet Fackor Cmncgls out 7 Hole

Wha+ ™M amn S ?

Ey 2. Discuss continuity of
F(x)‘;é e I %20
;-1

£ x>0

J6 delermine Can{-iym',j?z/ il need Fo cheak

lim feN= Uim f09 =] ipn F<) =+(0)
x>0~ >0t S0

For +his qUestion, ve cpnly neegd o chede
i lqumQ pight i

Quick Notes Page 3



dhe [eft ond right Yimids.

~X
& € 3 IR S
o
DtScomfmwy
’M ‘F()()_ ]lm “ :
)(._,50 X‘)O e e ‘ ‘?{ @)(-—

- =-|
b f0= G 0x'=1)= 0~ J’ump

)(~=;0+ 0

Fx 3 Discuss conh nw‘l-}

—— )(4
‘r()() X 4' q \ﬁ OCX?‘
x4 o x>
’Rf’ f X2
\/\/{ W\Wy hourt ol:scanhhurhes @ xX=0,(
ox+4 9ea  —ax2 To cheek ' )
X L e fo0=tim F(X
2= 2y — x50~ X0
9 l m £ = +(x)
' X~ x> (F
N $60= fim (6 4) =4
*> 0 X0 )) > No Adisaontinety
)i $()= ‘;‘" (2x¢Q) =9 @ x<=0

¥-20%



JYr TN\AI S UV

x>0t X0
i f(x):l(i;;;; hx+9)= Il X D:scégﬁiﬁu‘i*y
X>T (~2Ax-2)=—Y4

: -\ \
jim, £)=lm >
Y>1* e Jump

Quick Notes Page 5



